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® 10MHz %7
® ZEMFEALR K : <X5. Oppb
® #ieit T 7E-13@1s
® R, kAR B
e AR BIR RSB M & 14
TEHEE +5.0VDC VCC+5%, ZUE<50mV
BRI BEER <650mA FF4ERT(a) <90s, +25°C
RSER <240mA 48] <300s, +25°C
FRARIR 10.000MHz
KR 1E5%5% (sinewave)
A ESINE 9+2dBm A%k 500, Load+5%
R <-45dBc %k 50Q, Load+5%
A% <-80dBc
HRKAEE, 25+3°C,
W6 5 1R EHE <+0.1ppm
EFC=+2.5V
i E IR E E <+5.0ppb -40—+70°C Ref+25°C
BENRRER <+1.0ppb VCC+5%
MEMEREE <+1.0ppb Load+5%
HHMEREE <7E-13@1s Fl{eFIZ, WA E>4h
= +0.2ppb/day
R 1% 8 A B8] >48h
WMERRBREE <+20ppb/year
1Hz <-105dBc/Hz
10Hz = -135dBc/Hz
N 100Hz <-150dBc/Hz 17 B A 8] > 30min
1KHz = -160dBc/Hz
= 10KHz <-162dBc/Hz
SRR PRI T RE RN ESEE 0—5V fl N R +2.5V
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B 36 ‘ _ H | ©°
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